vame SCN1AD \j

Mr. Schlansky Geometry

Revien—for Mini-Proofs-Quiz ﬁfdd\f@

1. Given: 4K is a median W A e
slaterinky @g@y) )5 W

G)M Na edian i K
@)@“—A,N @ W;}ta/) L/Qalei 'kxb vy {Vent S‘fj'ﬂ?ﬂf)

2. Given: R is the midpoint of OE

sldomnts | Basons
0)(2 is fhe midpal (,\98:\1@/)

iy 5 A midfoink (fecdes
A iqromr
@52,_ RE QASL(J() ngooj{upn‘-‘gejmm’j

3. Given: DA is an altitude !
skalemnts | fpasons &
DOR is @ A o _

alM\xJ@ . lecLL
(@DAYZLDAZ %g?@” {;Z;i angloent

4. Given: IT L RS

Slagbmrks | fusont —

e CDjiVM

FT1RS
OT Py(pm);cdbf livies
D, TR=,1T (éa\{ 1o nj it

) 3% andes

\



5. Given: KI bisects £ PIN
slalennks [ Tsens &
(DTT bisads N @ Givien

T ~ CfogeS
N, PTRY, NITIR 49}«\ O@Q bi&é@b Cloq
LFTee Jup conguentangbs.

6. Given: LN I VI

§Jra\lem12/)5 | Buson S

OLNIVE (D Ne/)
= [ab/ IHIQS CW&
S Rl sk,

an@ﬁ@

Slalenerls Y s
(D 55 biehs R | Dglen

I biSecke
&Ov=UR @éﬂgﬁ Jza é@yum

SEqmintsS
s%mnﬁ | Pasons —
CDjZ s e |9 N ;
@D@‘n ng D pidont c@a&g;

\thoo et It



9. Given: GA b sects N

Oﬂ b&di H)Q /
DFR=A FN\ \my Nisechorcreates

0 C@ﬂﬂﬂm/\\' Sg[j)’ﬂ,@ﬂ g-

10 Given: AB blsects ZFBL

éﬂ% Ma ,
(DRe biseds /FBL (D N

2, naple hsedler
@L FBA LLBA} C(ka} ) umjm@n\. O’M@

11. Given: AS 1L OE

Slale/ﬂénﬂ QZQBO/)S

»' | =5 @ \) 0
o okl i
@LASOSL%SE: Clode Ao Corgutat

ganges

12. Given: UM || OE

homige (D g
O, BN&LETO @ futally







